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WA 46,553 13kg 1,080 | 918 | 756 || ERS b
FEIZA LA 19,240 10kg 2,160 || 1,674 || 1,188 17| E& &E i
ZIES 390] 10kg 4,320 || 4,320 || 4,320 || &H% #o
H% 49,200] 15kg 2,160 1, 659 864 fehE Xk th
FrY 57,910 10kg 3,240 1| 2,025 1 810 || ZEH& b
EFS5NAZED 6,114] 300g 97 — 97 — 97 -] EE f&E it
=LA 1,412] 200g 108 108 108 ML RE e
HfaZE 6, 856 3kg 1,512 1,296 1,080 X5 HE o
AN 5, 886 dkg 2,376 1| 2,052 T| 1,728 —| %2R ftb
k< k 12,192 dkg 2,316 = 1,672 | 324 || &RE KB ith
EpoY 11,010 5kg 3,564 — 2,754 || 1,944 || &£E EIRE
E—<> 3,650 130g 119 — 103 81 || B ERS #
AL & 20, 159 5kg 1,944 —| 1,566 —| 1,188 —| X% FE {
Fhul & 38,1401 10kg 3,564 —| 2,403 1| 1,242 7| disE 4t
f-FRE 77,360 20kg 3,456 — 2,970 T| 2,484 1] dimE b
LA R 11,310] 10kg 4,320 —| 3,510 || 2,700 || &5 4
Jowyal)— 1,472 6kg 4,536 || 4,047 || 2,592 -] 8 B
Sl S48 2,622 3kg 2,268 —| 2,083 || 1,728 -] 2% #FL it
£ LW 2,501 200g 238 — 173 | 108 || ®E b
ADEITF 4,077 200g 108 — 92 | 76 || R b
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HA 52,804 10kg 7,020 —»[ 4,050 —| 1,080 —] #nExL fib
WEhA 17,563] 10kg 4,968 1| 3,564 1| 2,160 || ZE®E b
FoE LA 6,019] 10kg 4,320 || 3,186 || 2,052 || #n#ul b
Rohy 14, 744]  10kg 5,400 4,212 3,024 BIE S b
AL 30,350] 10kg 6,264 1| 4,860 || 3,456 || &F% 1t
B 3,190] 10kg 4,104 || 2,862 || 1,620 || &F 1t
aFd—IL K 7,340 10kg 6,264 | 5292 | 4,320 -] HF fth
w2 19,733 270g 918 — 675 — 432 - f&E Kk fth
BEAQY 323 8kg 12,960 || 10,048 || 7,560 || & 1t
*—4 6,629] 3.6kg 2,808 || 2,700 || 2,592 -] &M = b
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